Year 6

Mathematics
Arithmetic: Paper 6
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Key Stage 2: Arithmetic Paper 6

1 18 x 6 =
2 142 x5 =
3 1005 - 100 =
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4 | 57-01-=

5 | 6673+794 =

6 | 208 +500 =
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7 | 26-004-=

8 | 7xa=
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10| 7x3x6=

= D s . .
11 | 43+ 32=
12 | 809.3 + 100 =
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13 | 7.01 x 1000 =
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14 s tgtg=
15 | 3000 x 7 =
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80 000 + 9014
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19 | 25% of 1640 =

20 | 1.241x5=

21 | 1111-999 =
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22 | 3996+ 6 =

23 | 163-755=
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24 | 49x32=

e | 1,3
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26 | 5117 +17 =

27 | 4+8)x5=
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28 | 312227 -87 653 =

2q | 3091 x 45 =
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30 | 9x3
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32 |5 +2-
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33 |+ =

34 | 2924 +34 =
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35 |5 +4=
r
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36 | 55% of 420 =
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